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1. ËÛ¾Û …¬ÛÙÉÛÛÍªÛ¶ÛÛé …¬ÛÙ, ÈýÛÛ”ýÛÛ …¶Ûé ÜÈÛÌÛýÛÈÛÍ©Ûä¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 18 

    …¬ÛÈÛÛ 

 ½ÛÛÁõ©ÛàýÛ ËÛ¾Û ¼Û›ÛÁõ¶Ûà ¾Ûä”ýÛ ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé ˜ÛïõÛÍÛÛé. 
 
2. ¶ÛÛêµÛÛýÛéÅÛ ïõÛ¾ÛþùÛÁõ ÍÛ×–Û¶ÛÛ ÜÈÛÜÉÛÌ¤ø Ðü‘õÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 18 
     …¬ÛÈÛÛ 
 2001¾ÛÛ× ïõÛ¾ÛþùÛÁõ ÍÛ×–Û µÛÛÁõÛ¾ÛÛ× ¬ÛýÛéÅÛ ÍÛäµÛÛÁõÛ…Ûé ÈÛ¨ÛÙÈÛÛé. 
 
3. ÍÛÛ¾ÛæÜÐüïõ ÍÛÛéþùÛ•ÛàÁõà¶ÛÛé …¬ÛÙ, ÍÈÛÄõ¸Û …¶Ûé …ÍÛÁõÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 18 

    …¬ÛÈÛÛ 

 “¼ÛÛÇïõÛ¾Û …é ½ÛÛÁõ©ÛàýÛ …¬ÛÙ©Û×ªÛ¾ÛÛ× ÈÛ¨Û ŠïõÅÛéÅÛ …ÛÜ¬ÛÙïõ ïõÛ¶Ûæ¶Ûà ÍÛ¾ÛÍýÛÛ ™öé.” – ÍÛ¾Û›ÛÈÛÛé. 
 
4. ”ÛÛÍÛ …ÛÜ¬ÛÙïõ ¡öÛé¶Û¶Ûà •ÛóÛ¾Ûà¨Û ÁõÛé›÷•ÛÛÁõà ¸ÛÁõ¶Ûà …ÍÛÁõÛé ˜Û˜ÛÛë. 18 

   …¬ÛÈÛÛ 

 ½ÛÛÁõ©ÛàýÛ ïõÛ¾ÛþùÛÁõ ÍÛ×–ÛÛé¶Ûà ¶Û¼ÛÇÛˆ¶ÛÛ ïõÛÁõ¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
 
5. …Ûíé²ÛéÜ•Ûïõ ïõÛ¾ÛþùÛÁõÛé¶ÛÛ ÁõÐéü¥øÛ¨Û¶Ûà ÍÛ¾ÛÍýÛÛ …¶Ûé ŠïéõÅÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 18 

     …¬ÛÈÛÛ 

 “Ü¶ÛýÛ©Û ÈÛé©Û¶Û/ ¸Û•ÛÛÁõ ¸ÛÁõ ÁõÛé›÷•ÛÛÁõà …é ËÛ¾Û¶ÛÛ× …ÜµÛïõ ¸ÛäÁõÈÛ¥øÛ¶Ûà ¸ÛéþùÛÉÛ ™öé.” – ÍÛ¾Û›ÛÈÛÛé.   
 

6. ÍÛ¾Û›ÛÈÛÛé : (ïõÛé̂ ¸Û¨Û ¼Ûé)  10  

 (1) ÅÛé¼ÛÁõ ¤ø¶ÛÙ …ÛéÈÛÁõ 
  (2) •ÛéÁõÐüÛ›÷Áõà¶ÛÛ× ïõÛÁõ¨ÛÛé 
 (3) Í¬ÛÇÛ×©ÛÁõà©Û ËÛ¾Û 
  (4) ÍÛÛ¾ÛÛ¶ýÛ-ÁõÛ›÷ïõàýÛ ½Û×¦øÛéÇ 

___________  
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1. Discuss the meaning, definition and subject matter of labour economics.  18 

    OR 

 Examine the chief characteristics of Indian  labour economics. 

 
2. Discuss special privileges of registered trade unions. 18 

    OR 

 Describe the amendments made in the Trade Union Act in 2001.  

 
3. Discuss the meaning, nature and effects of collective bargaining. 18 

    OR 

 ‘Child labour is an unsolved economic legal problem in Indian Economy.’ – Explain.  

 
4. Discuss the effects of Special Economic Zone (SEZ) on rural employment.  18 

              OR 

 Explain causes for weaknesses of the trade unions in India.  

 
5. Discuss the problem and measures for housing of industrial labour. 18 

                      OR 

 “Employment on fixed wages/salary is the products of over supply of labour.” 

Explain. 

 
6. Explain : (Any two)  10  

 (1) Labour Turnover  
  (2) Causes of Absenteeism 
 (3) Migrant labour 
  (4) General-Political funds 

___________ 


